Question 21 2010 HSC Chemistry Band 5/6

Sample 2
Question 21 (3 marks)
A 0.001 mol L™ solution of hydrochloric acid and a 0.056 mol L™! solution of 3
ethanoic acid both have a pH of 3.0.
Why do both solutions have the same pH? ’
.The...exhanpic.... au‘af......can...zmi....oam.p./.ed....ﬁ....wnige..../m.@.f..@.()&é |

ol L7 i mace..concentrated .. than. 000l mol L) In..
.dAe.....ﬁéf;&ﬂdt{aric..aac(.........ﬂﬁ...ﬁ.e......ma{ecular....I..wm (etely... . toaice.
. It e hos.. e Same....aptound...o- ......[Hﬂf......w..of.zz..ofe
ol 7] edhanoicacid...... S R his.... ... acld... dave...dhe..
-Qme...pH....because.....# ... /xa.ve.....%6...mm.e......cmcemﬁm..aTC.[HT‘]

2001 _9_



